


182.5km

A:200 1 B 24,000m3/s C: 26,000m3/s)
22,000m3/s ( 500 1 1,000 1

! 1/200-1
[
| 1/200-2
[
W60
E50 6.0m
10,000 030 50m
9,000 f-------------—---—----- o20 3.0m
oos 20m
8,000 Oos
7,000
6000 -~~~ " """ """ oo
5,000
4000 -~ [~ [~~~ -
300 - }—J~""""1 [~~~ -
2,000
1000 F--| |-~ [~~~ -
0
1/200 1 2
y




136.0km

A:200 1 B: 24,000m3/s C: 26,000m?'s)
22,000m3/s

-/ T T 5= |

1 1/200 -1
[

1 1/200-2
|




T L1E%
A:200 1 < N y
N, - _f_r'f o
22,000m3/s *—-ir\. s It M I
B: | T e el
' ] | |
24,000m3/s | wiow a (- N Moy
-1 ! : I-ﬂL‘_ y ~
C: i g ﬂ’*ﬁf hﬁﬁ e {H\ =8
26,000m3/s) K yi g !
1,000,000 B5.0
900,000 m5.0 6.0m
' @30  50m||
800,000 [ =20 30m +. .
700000 -1 [ @os  20m|%
‘ 0os
600000 ---— [ ------1 -1 —
500000 - |- - - =
400000 -1 |- {  |[-—-- o 3
300000 --141  |-—-—--"--1  f-—-—---- o =2 :—,]_:,: gﬁ
200,000 F-—-+—4------1  f------ R
100,000 F--4  |------{  p------ L
0 10k
1/200 —]




118.5km

A:200 1 B: 24,000m3/s C: 26,000m3/s)
22,000m3/s

1,000 1

.. A el cor L
i ]
N A ot
b \ A Ay T
N ) Y FRE “;;\: % i I
T [ B L
5 [ , i,
, :- _X ..:- . % T | W = N
o e N ' 3

oA : " p
.__i' N - S A

h L

et I Y
R R
M 2om 50m :

1.0m  2.0m LAY o

0.5m 1.0m

A = [FRE|
km?2) LI e gn, = km2) §
. b | -
ES U T a
- B
T P
I0km  Skn 0 10km : 1 1Bk and
I — - el - -
(... |

1/200-1

1/200-2




A:200 1 22,000m3/s
B: 24,000m3/s
C: 26,000m3/s)

6.0m
5.0m
3.0m
2.0m
B som ’ 0os5
M 2om 50m 15000 -1 (-1  |-——--- o
1.0m 2.0m
[ o5m  1.0m 10,000 [
0.5m
5000 -+ |1 |- -
10km Slem o
NN N Ee— 0
1/200 1 2




172.5km

A:200 1 B: 24,000m3/s C: 26,000m?3/s)
22,000m3/s 500 1 1,000 1

1/200-1

2
1/200-2
N
A B A C
s .-. ke KBE2 | o
\'r |.‘ ¥ i g
m60
20,000 —|mso om
18,000 ——550  3om
16,000 | Eg:g 20m
14,000
12000 F----—-—-—---—-—--—-|  }----- |
10,000 F--——+F-----|  |----- |
8000 ——-|  F-—-———-—-  F--—-—-- |
6000 —-—-| F---—--  F--—--- |
4,000
2,000
0
1/200 1 2




159.5km

A:200

1

22,000m3/s 500

24,000m3/s

1

26,000m?3/s)

[ E ]

1/200-1

1/200-2

40,000
35,000
30,000
25,000
20,000
15,000
10,000
5,000
0

1/200




A:200 1 B: 24,000m3/s C 26,000m3/s)
500 1 1,000 1

T 7 I 7 T T

ot b2t R b | e

1/200-1 >

1/200-2




A:200 1 22,000m3/s

B: 24,000m3/s
C: 26,000m3/s)
’ A B A C
r?‘W-'H'Jll r){r |5'L _
_.:.\f"‘

&

i Nl
— 'rl"\}'-..*ul-\"._"'l Fi

oy
T ol
W60
50,000 W50 6.0m
m3.0 5.0m
- L 020 3.0
= som 40,000 o5 2.02
. 2.0m 5.0m Dos
10m  2.0m 30000 --/—8------- |- 0>
[ osm 1.0m
0.5m 20,000
10000 -1 | | o
P, 10km Skm o
0
17200 1 2 9




